47, Heavy waler:
a) Contains more dissolved air
ontains more dissolved minerals l\_CJ
&) Contains deuterium in place of hydrogen
d) Contains organic impurities

48. “Fixation of Nitrogen™ implies:
a) The liquefaction of nitrogen
The conversion of atmospheric nitrogen into useful compounds (_b}
¢) The conversion of nitrogen into amines
d) The solidification of nitrogen gas into the atmosphere
49. The pH value of the solution obtained by complete neutralization of hydrochloric and sodium
hydroxide solution will be:

“xgetly 7 o b) Zero
A¥lore than 7 R\ ) d) Less than 7
50. Coloured glasses for goggles contain:
a) Ferrous oxide b) Lanthanide oxide +~
¢) Nickel oxide d) Ferric oxide

51. Which of the following statement is not true for soap?
a) Soaps are bio-degradable
b) Soaps cannot be used in acidic medium k ci J

c) Spaps form a white curdy precipitate with hard water
\})/SE:);; are relatively stronger in their cleaning action than synthetic detergentsi””

52. Which one is a viral disease:
a) Cholera b) Typhoid c) Rabies d) Whooping cough

53. Rubella Virus cause;

a) Chicken pox vlﬂﬁcasles E/ﬁj c) Small pox d) Mumps

54 mtired. 1°d rather out this evening, if vou don’t mind 9
a) don't zo \_,b)ﬂf)igo f\'b) ¢} ot going y%glt to go‘@-
35, Anthropologists are of the view that Haryana was known by this name because in Post-
Mahabharata period lived: 7
L}]/fbhiras l‘&) b) Aryanst¥ ¢) Harvanvis d) None of the above

36. According to Delhi Museum Hariana “The Heaven on the Earth™ dates back to:
a) 1126 AD 328 AD\/{b) c) 1500 AD d) 1750 AD

57, Ha;y?&mlc was formed on 1 November 1966 on the recommendation of:
Lal

ahadur Shastri b) Indira Gandhi
¢) Bardar Hukam Singh d) Sir Chhotu Ram
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58 Haryana is a landlocked state lies between:
a) 28 Degree 37 Minutes to 31 Degree 35 Minutes North
b) 24 Degree 26 Minutes to 27 Degree 28 Minutes North @
¢) 29 Degree 20 Minutes to 31 Degree 30 Minutes North
\MpDegwe 3?{Bﬁnuzcs 10 30 Degree 35 gi nutes North =
1)

59. Population density according to 2011 census is

a) 1002 people/per sgkm b) 642 people/per sgkm
573 people/per sqgkm l\_cl d) 945 people/per sqkm
6. Haryana has (Cl/)
T a) 35682 villages b) 675§9juillagcs c) 4890 villages None of the above
£19Y.

el
61. How many divisions the state is divided for Administrative purpose

a) 5 b)3 Vuﬁ' KL) Vﬂ‘fﬁonc (@'}i
62. Which of the District is not part of the Gurgaon Division?

a) Faridabad b) Palwal ‘/g’ﬂisar (‘:!I d) Rewari

63, Haryana Board of School Education established in Sept 1969 and shifted in 1981 to
a) Sonepat b) Chandigrah lﬁﬁﬁwani vﬁ] d) Rohtak

64. Haryana has adopted New Sports Policy on:
a) 15™ August 2008 L4— \_‘b{ﬁ‘ August 2009 [_IDj
¢) 26" January 2009 d) 2™ October 2008

65. KMP stands for

j};)éumkshctra ~ Maneser - Panipat Expressway
Kundli —~ Manesar - Palwal Expressway & U:l)

c) Kundli - Manaser — Pautodi Expressway
d) Kurukshetra -Mahendergrah — Pamipat Expressway

66, Haryand Jrdustrial and Investment Policy — 2011 became effective from:
ay’1-1-2011 l'\a'} b) 26-1-2011 c) 15-8-2011 = d) None of the above

67, E‘E?zﬁpccial Economic Zones Act came in existence in:
06 .\aﬂ] b) 2008 ¢) 2009 d) None of thb-above

68. Literacy rate (%) in Haryana is: y)(
) a) 70.75 percent b) 68.60 percent ©) 62750 percent d) 58.25 percent

69. Arrange the sectoral growth in Haryana

a) Service Agriculture Industry

b) Industry Service Agriculture
Agriculture  Industry Service

d) Service Industry Agriculture
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70. Mahatma Gandhi National Rural Employment Guarantee Scheme has been extended in the
entire Haryana from:
a) 1" January 2008 b) 1 July 2009~ Lcl) 4
c) 1" January 2010 -4 None of the above _9_{-_;.}1 a0

71. Average Yield per hectare of Wheat and Rice during 2010-2011 in Haryana is estimated at:
a) 4560 kg for wheat and 2750 kg for rice
b) 4500 kg for wheat and 2700 kg for rice
¢) 4250 kg for wheat and 2750 kg for rice

\Monc of the above ROU y £56 , 2750

72. Haryana State Annual Plan for 2011-12 approved by Planning Commission, Govt of India is:
a) Rs 20158 Crore b) Rs 20258 Crore
\CLRS20358 Crore £ d) Rs 20458 Crore

73. Which buffalo is called as Black Gold in Haryana?
vq})'mﬁf]fvari b) Niti-Ravi ¢) Mehsana \ A Murrah @ )

74. The Haryarf Special Economic Zone came in the year
a 5 b} 2006 . €) 2007 d) 2008

75. The Haryana Government's Land Acquisition Policy,
a) has decided to double, even higher in some areas, the minimum floor rate (MFR) payable
for acquisition of land
i{)a,inﬁ?ease both the annuity amount payable over 33 years as well as its incremental annual
hike and give bigger-size plots in case one’s residential property is acquired
c) the affected farmers would also be offered Government jobs, industrial and commercial "

AT::; above kél’)

76. Barents Sea in the Arctic Ocean has been controversial over the maritime boundary for 40
years bepween which of the following two countries? The issue was resolved recently;
Va'))RMu’ssia and Norway, () b) Norway and Finland
¢) Finland and Russia \ d) Russia and Denmark,

77. Navanentham Pillay, a South African national of India origin was the first non-white women
of igh Court of South Africa. What is her current profession?
Judge of the International Criminal Court
by ernational Criminal Tribunal for Rwanda
United Nation High Commissioner for Human Rights (C)
d) United Nation High Commissioner for Refugees
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78. Consider the following statement:

1. India and Japan agreed to a “sweeping’ liberalization of their bilateral tax regime during
PM Manmohan Singh visit to Tokyo on 27" October 2010

2. This is the first in releasing the Indo-Japanese comprehensive Economic Partnership

Agreement
Which of the above statement are true?
a) Only 1 b) Only 2 c)Both 1 and 2 d) None of these

79.  Consider the following statements about the Ayodhya verdict: ]
I. 60 years the matter first went in to Litigation Lucknow Bench of the High Court of
Allahabad ruled in majority judgement on 30™ September 2010
2. Disputed sites to be divided into three equal parts: one part goes to Suni Wakf Board, one
to Nirmohi Akhara and one part representing ‘Ramlalla Virajman®
3. Status quo to be maintained at disputed sites for three months
4. The bench which delivered the much awaited verdict consisted of Justice Dharam Vir
Sharma, Justice S U Khan and Justice Sudhir Agrawal
Which of the above statement are true?

a) Onlyl, b) Only 2 <) Only 3 ﬂ the above

80. Parliament has passed SBI (Amendment) Bill 2010 which changes the minimum level of
share of the government in SBI's equity

a) From 51%to 5% \B¥Ffom 5% to 51% \b)

c) From 74% to 51% d) From 55% to 49%

31. The Prime Minister Dr Manmohan Singh and Sonia Gandhi have launced the Aadhar
Project under Unique Identification Authority of India at Tembli in Nandurbar District.

Nand, is in which of the following states?
a)\ Gt chyManarashira kb}
¢) Madhya Pradesh d) Tamil Nadu -
82. Recently UNO celebrated its 65" Anniversary on date;
a) 20" Oct 2010 By23™Oct 2010
€} 29" Oct 2010 d) 27" 0ct 2010

83. The government has recently announced a Rs 1052 crore incentive package for critical
export sectors including

. Textile
2. Handicraft
3. Leather

Cll:;s%m:ﬁ‘mcl answer from the below; I
d2 b) 2 an OU
c)land3 M; 3
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84. Who will be heading the National Innovation Council which will give shape to the
government's decision to observe the current decades (2000-2020) as the decade of the

innovation?
a) M S Swaminathan b)}t'ﬁagarajan @)

¢) Narayanamurthy Ld¥Sam Pitroda

85. Who among the following has been honoured the United Nation's Millennium
Development Goals Award for 2010 for their work in using innovated approaches for

vertyand hunger alleviation )
M b) WHO L}Mﬁ- L d) G-20

86. Harappan people had a common burial system which is proved by:
a) The earth burial head of the dead normally laid towards the north
b) The burial of commonly used items with the dead g
ug)/Bﬁi: (a) and (b) above
d) The burial of the dead body in the sitting posture

87. In the Vedic Period, the people called Panis, were:
hose who controlled trade O\} 5
L ” d) Ploughmen

¢} Cowherds
8. In the Vedic Age;
a) Polygamy was unknown ifd marriage became prominent
¢) Widows could remarry -] Hypergamy was allowed ( LY )

89. Bring the correct statement regarding the first Buddhist Council;
1. Ananda and Upali laid down the Sutta Pataka and Vinaya Pitaka respectively
\,}'/rl'\ﬁ:roomdings were conducted in Sanskrit
3. 1t was held during life time of Buddha

B 4, lts-main purpose was to maintain the purity of Buddha’s teachings
Q\ \)‘)/I[Z::! 4 b) All of them

¢) land2 dy2,3,4
90. The sacred books of Jains are called: M
a) Agama Sidhanta \Jy)’hn gas L‘g) c) Parvas dpangas

91. Who founded the Lingayar Mov ™
a7 Basava [UL} amanuja ¢} Shankracharya d} Kamban

92. What was Abwab?
a) Toll tax
b) Religion tax such as Zakat ‘—)(
¢) Taxon merchandise and custom dutics
dyMiscellaneous kinds of taxes like the house tax. grazing tax. irrigation tax ete.

&2
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93. The term used for measurement of land in the Delhi Sultanate Period was:
a) Kismat-i-ghalla b) Ghalla-bakshi Lc),Mf::hat ( ) uéﬁg.

94 .;h?ﬂier Vaishnava Bhakti saints from the South were:
Ivars b) Nayanars ¢) Bhagavatas d) Virashaivites

95. Identify the Vijanagar coin which were in the circulation and were the most widely
recognized currency all over:

a) Dinnar b) Huna ¢ ) Panam \i) Pagoda
96. Akbar did not construct:
+_a)Pufana Quila b) Agra Fort <) Allahabad Fort d) Lahore Fort

97. The main programme of the Red Shirts (Khudai Khidmatgars of Servants of God) organized
by Khan Abdul Ghaffar Khan in support of the Civil Disobedience Movement was:
a) To proceed on the lines of terrorist and revolutionary activities

\‘}h\}ﬂ'o propagate the Congress programme C‘J
.\}}ff o resist the military operations of the government in the north-westemn frontier portion
\I}J{Io):s:up an para-military organization

98. The result of the Poona Pact was that the number of the seats reserved for the depressed
classes out of general electorate seats were;

a) Abolished \bTrereased ) (b)
\1:_:)/Kmined in the same level d) Decreased @

99. Cripps proposal were rejected because:

a) It refused to release all the arrested national leaders
b the intention to partition India
c) ggested the formation of an interim government Q{{/)
It refused to hand over effective power to the Indians
100. Who presided over the Cabinet Mission?

a) Clement Attlee ir P Lawrence Lb )
“Strafford Cripps d) AV Alexander
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